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FA: 2SI
M 2NE HSBS X
el ZUN=Es 2det (S &)
SA - BH - S9I(BH) - HIRAY - BES Ol e HIDS
= 108,821
z 253,917
10 0=t - 2SFSEd=3 362,738 0 362,738
Ol 260,000
&= 60,000,000 *1& 60,000
& 18,000
z 42,000
08 =~(AZ) 60,000,000 x1¢e! 60,000
& 18,000
z 42,000
08 =~(B2) 50,000,000 x1¢! 50,000
& 15,000
z 35,000
04 ==(c2) 45,000,000 x2¢2! 90,000
& 27,000
z 63,000
o4ty 282 33,790,420 33,791
& 10,137
z 23,654
OEA Neg= 21,666,660 21,667
& 6,500
z 15,167
O=¢gitl & &3 42,280
O=KNICHE 4,000,000 12l 4,000
& 1,200
z 2,800
O=LHCHE 4,000,000 73] 28,000
& 8,400
z 19,600
0=U dXI=&h| 2,570,000 *43] 10,280
& 3,084
z 7,1%
Oagge oAy 5,000,000 %13} 5,000
& 1,500
z 3,500
405 KHoHFSHI 20,000 0 20,000
& 6,000
z 14,000
01 ML =SFSHI 20,000 0 20,000
O ==A HIS7H 10,000,000 *2IH 2~ 20,000
& 6,000
z 14,000
SSHSAIE2 2,719,441 634,019 2,085,422
= 440,000
z 2,279,441
SSHEANEES 511,661 432,579 79,082
101 QI24H| 187,501 125,189 62,312
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SA:
X XH -
(e

o
chel:

0R IY HD
0 Foil' tou

HEE

SA - BB CRI(3)) - MIRAIRY - BYS Ol b il o FlImE==T
SIS 187,501 125, 189 62,312
OZTHSAIL T 2ATY| 2121Y| 38,472
0ZLSST FH AT
73,28021%401+752) 21,984
0ZARR 8 BATY|  73,20025201752 10,992
OSHIMEIST F8 22T
73,2801 101752 5,4%
OMZHSB 212 28,225
Wl 73,28021+101x25821 18,907
(ES IR 73,2801 1015221 3,811
(EEIEAS) 73,28021%101% 1509202 2,199
0=01013 25,215, 20021%4. 5% 1,13
0=pIRiATEE 25,215, 2002443  495% 88
(ECIESlI=EIEL 881,28024+6. 14% 55
0nEPER 25,215,2002+0. 9% 227
OMTHPE R 25,215, 2002+4% 1,009
OHLHSDY 22l 3,156
Wl 73,28021+101x25821 18,907
(ES IR 73,2801 1015221 3,811
(EEIEAS) 73,28021%101% 1509202 2,199
0=01013 25,215, 20021%4. 5% 1,13
0=0IiATEE 252, 152, 0002443  495% 8,813
(ECIESlI=EIEL 881,28024+6. 14% 55
0nEPER 25,215,2002+0. 9% 227
NP E R 25,215, 2002+4% 1,009
OeHSTY 22l 28,202
Wl 73,28021+101x2582! 18,907
(ES IR 73,2801 1015221 3,811
(ESIEAS) 73,28021% 101 1509202 2,199
0=01013 25,215, 20021%4. 5% 1,13
0=eIRiATEE 25,215,2002+3.5% 883
(ECIESlI=EIEL 881, 280213, 495% 31
0nEPER 25,215,2002+0. 9% 227
NP E 2 25,215, 2002+4% 1,009
ORHSME 22| 56,446
ol 73,28021+201x2582! 37,813
(ES IR 73,28021x201+5221 7,622
(EEIEAS) 73,280 20+201+1509x202 4,397
0=01013 50,430, 4002154 5% 2,270
0201212 50,430, 400213 495% 1,763
(ECIESlI=EIEL 1,762,55021%6. 14% 109
= 50,430, 4002450, % 454
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SN 2EHS
HE: 2AFE HSHS X
o9l ZRHSAlLE (Et9): &)
SH - B - C2(30) - HRAIRS - BAS 0 b e HIDE2
OMTHEE= 50,430,400 *4% 2,018
201 LEH=2EH| 316,560 299,790 16,770
01 Attt 59,648 24,638 35,010
OSIHEEX ¢ 22,0002 *12*4=0| 88
OBTHSAIE BFA 425 3¢
100,000 x84 2+ 123 9,600
OAIRES 7¥ 50,0002 * 12 600
OFax2e|IBS 7 50,0003 *8IH A6 2,400
OXelD|oH +& 3,000 800H* 12 2,880
OMLIHSR 9| 7HA 428 3¢
150,000 *8IH 2 1,200
OZJI83 (=Y, UE 5)7Y 1,000,000& 1,000
O&=J| thoiz 35,0003 64 A+ 123 2,520
O3JI13&J| toiz 40,0003 x304 2=+ 123 1,440
OslzRIxt A= DSY) 200,0002+39! 600
OBTHSAE 22l 25 S 72
400,000 %62~ 2,400
OFIQEEY 442 700,002+ 12742 8,400
OABBYDHY +42
1,300,000« 1204 15,600
OMLIHSR 52| OFE 89
130,000 1291 1,560
Oxtg Jatec ol 89
280,000 x1201E 3,360
OH3E AIES ZIIOEE 3
340,000 x1201E 4,080
OSZUI(HSAILLREX)  8,000232156804] 1,920
02 E=5=4H| 256,912 275,152 18,240
0BT % HAl 222,912
0AHoIER=S 8,000 71 Ax 123 672
0&IIR= 222,240
o AlLHMS 2 2,500,000~ 128 30,000
o e MEHISHE 2,500,000~ 12 30,000
oMEH=SE 1,000,000&*12& 12,000
o BEEsE 1,300,000&*12& 15,600
o A HISHIE 1,500,000&*12& 18,000
o gdRUEN=ESH 1,500,000&*12& 18,000
o HitMEEE 1,000,000&*12& 12,000
o HEXF U=SHAIE 900,000 *12& 10,800
0 M SEHISHIE 400,000 %123 4,800
oMtET 2= 150,0002* 128 1,800
ooty let2sud 150,0002* 128 1,800
OfILIA, BEH, EAH
2,000,000&~12& 24,000

_401_




SA:
X XH -
(e
e9l:

0R IY HD
0 Foil' tou

HEE

2A - - HA(ZH) - MIRA - BES Ofl &kt Oil aFou Husz
0Ty FRENSAE 30,0002k 128 3,600
o 4loh En2Y 30,0002 122 3,600
oS TIFBOH EHAIL
20,0002 128 2,400
eI 30,0002 128 3,600
OBLEMHSNOIESH 500,000+ 122 6.000
0ARR HEALS 70,0002 128 840
0 SHAIENOIESH
300, 0002 # 122l A 42 14,400
0TEIMES HMSAE 1,500,006 9,000
ONBI+E23 1,500, 00024+ 122 18,000
OXEIR2 L Y 25,0002 %670 A+ 122 1,800
OAIEZHIR LI 14,200
0ZIHSAIE RXI22 2,200
042 5,0002%4002 2,000
03It 4,0002550 200
OAILIKIS DI £H |XI24
500,0002!%13] 500
0+ DA &H KX
500, 0002%15127H 4 1,000
0FIIAIE B2l RXI24 500,0002!%13] 500
ORISAIE ZPT RX2
2,000, 0002 #5)H 10,000
202 04| 3,600 3,600 0
01 =LHOIH] 3,600 3,600 0
OMSAI Y248 100, 00024+301+ 122 3,600
206 TH2H| 4,000 4,000 0
01 MZH| 4,000 4,000 0
O+=22Ig HIZ, EH|, DAE 7Y
500, 00024483 4,000
ARD HSALES 1,107,780 201,440 906,340
401 Al2BIZCHY| 1,107,780 201,440 906,340
01 AIZHI 1,104,000 200,000 904,000
OSANO0IESH FAHE E&BA
100,000, 00024 100,000
OSts MIBEH TLTAF 500,000, 00024 500,000
OMSAIZES @ 28Rl 200,000,002 200,000
OS% HSAL 22AY 154,000, 00024 154,000
OSW 0fQI2S)|7 AXIAY  150,000,0002! 150,000
03 Al& S CHH| 3,780 1,440 2,340
OAI 2| 600, 000,00024+0.63% 3,780
HMSZE =% ZHIBA 900,000 0 900,000
7 360,000
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FA: 2SI
M 2NE HSBS X
ool ZTASALL (E42): )
% - (5]
S - B - S9I(B) - HIRAY - BAS Ofl ke S HIDS
T 540,000
401 AIZHIZ R0 900,000 900,000
= 360,000
z 540,000
01 Al&HI 900,000 900,000
OYE HSBY S IYIBA
900,000,000 900,000
2 360,000
z 540,000
LEHOIEZH HE+AE 200,000 200,000
2 80,000
z 120,000
401 AIZHIZ R0 200,000 200,000
= 80,000
z 120,000
01 Al&HI 200,000 200,000
OENHOIESH HB4AY 200,000,000 200,000
= 80,000
z 120,000
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